

جَمْعُ الْعَوَامِلِ بِطَرِيقَةٍ أُخْرَى. ثُمَّ أَوْجِدْ كُلَّ نَاتِجِ ضَرْبٍ.

13. $(3 \times 2) \times 4 = 3 \times (2 \times \underline{2})$

$$\begin{array}{c} \text{= } \underline{\quad} \times \underline{\quad} \\ \text{= } \underline{\quad} \end{array}$$

14. $(2 \times 2) \times 4 = 2 \times (\underline{2} \times \underline{4})$

$$\begin{array}{c} \text{= } \underline{\quad} \times \underline{\quad} \\ \text{= } \underline{\quad} \end{array}$$

15. $5 \times (2 \times 3) = (\underline{5} \times \underline{2}) \times \underline{3}$

$$\begin{array}{c} \text{= } \underline{\quad} \times \underline{\quad} \\ \text{= } \underline{\quad} \end{array}$$

16. $(4 \times 2) \times 3 = 4 \times (\underline{2} \times \underline{3})$

$$\begin{array}{c} \text{= } \underline{\quad} \times \underline{\quad} \\ \text{= } \underline{\quad} \end{array}$$